1 FRI0EE—WEHTHERUIA BT 8

(FR30E4RA1B~9H30H)

(1) WA (A T, %)
K F H THEAR N AR
1| i B 42,427,727 21,437,329 50.5
2 | Hu )i s 5. B 924,400 237,830 25.7
I | B | . 60,379 26,643 44.1
40 B 5 #® x F & 101,621 18,948 18.6
51 B EEE TG H XM E 99,163 0 0.0
6 # FH WH EH B KL f & 6,025,588 3,365,660 55.9
T T 75RO B R e 25,696 8,383 32.6
8| Bl H H HE B LA & 1 0 0.0
9( B # H I B B KL & 149,968 55,562 37.0
o # K &K Bl 2 fF & 158,706 166,244 104.7
11| # ol s £F i 13,506,412 9,052,219 67.0
12 228 % 2% KRR & 59,684 28,733 48.1
B3 2 #H & kK O A # & 1,460,627 527,986 36.1
Ml £ H B & W F OB 1,843,593 844,992 45.8
15 Jek 53 s & 19,709,440 8,575,968 43.5
16| W 53 H 4 7,509,504 680,798 9.1
17 W JE Iz A 689,931 361,535 52.4
18| % it 4 107,817 27,584 25.6
19| & A 4 2,547,226 0 0.0
20| A ik 4 1,036,424 1,459,894 140.9
21| & 1% A 1,632,408 332,952 20.4
22| T 1& 11,859,341 0 0.0
5 111,935,656 47,209,260 42.2
(2) HH (A7 T, %)
= F H TR BUTHH BUTR
1| % = # 651,809 344,389 52.8
2 | #% % # 11,739,928 4,349,120 37.0
3| K s # 45,579,811 17,247,139 37.8
4| 1 a5 # 8,321,781 3,432,072 41.2
51 % 18 # 299,870 148,269 49.4
6| & IS # 2,925,597 580,525 19.8
(I T Eeg 1,467,051 836,971 57.1
8| + PN # 16,143,295 6,325,412 39.2
9| ¥ %3] # 4,215,299 1,867,023 44.3
10| # =) # 7,981,503 3,162,567 39.6
1| % == i) IH # 15,037 274 1.8
121 & & # 12,544,675 5,568,038 44.4
13| F fiii # 50,000 0 0.0
5 111,935,656 43,861,799 39.2




2 FRIOFERFMNEFTTFTHEERVUIITEE

(*FR30F4H1H~9A30R)

(AL T, %)

S S ) g THEAE BUTH BUTR

/A S (A B A ¢ 8,843 3,108 35.1
BO¥E O£ W OB Kk F O OB 529,030 241,918 45.7
B 1 A 7 55 i 1 A A B A P 203,725 107,315 52.7
R & Bk &k KR % 25,511,387 9,745,670 38.2
Ir i (Z8 iR # 25,356,174 10,463,075 41.3
% M & W E E R H 3,066,980 793,504 25.9
AL £ | R A | N S < ¢ 1,317,923 596,805 45.3
+ o B B F X H 13,022 1,516 11.6
w ax H ) PE X 2,677 46 1.7
HopEr o R E., MM EKX 704 61 8.7

il 56,010,465 21,953,018 39.2




3 MEDIRR (ERI0OFEERRE RS RIALE)

(AL T, %)

= q 4 X gl BLAE i FIA%H HERL L
— k= 7 TR ¥ & 10,630,279 7.7
R A & 2,548,100 1.8
17 A4 f& 3,952,755 2.8
55 18 f& 52,100 0.0
s IS f& 1,893,349 1.4
[ T i 594,931 0.4
& & 43,313,056 31.2
N =1 {58 T & 3,961,927 2.9
] ] fi 461,521 0.3
# = & 12,740,808 9.2
X & 1 5 & 312,230 0.2
< 2 fit, & 50,901,587 36.7
af 131,362,643 94.6
ST || B /AN R (A B S I 72,295 0.0
BOE WO OK FOEE 2,773,314 2.0
%éf %(f ﬁ;@ ’J“%g 1/4;.2 382,142 0.3
;; %ﬁ fﬁ”$ﬁ ;j,j Z’; 4,254,177 3.1
al 7,481,928 5.4
= G 138,844,571 100.0

4 —FEAZDORAES
TRBOEI 30 HBE, —FHEARORIER O




5 FERISOFELEXZFHFREERVINA BIT)EE
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(1) KEEXRE (WS T, %)
X 5y TR I BAT) B | A (BdT) 38

I i 1 I A 7,801,111 3,746,015 48.0
I ey £8] X H 5,996,848 2,335,981 39.0
4 ZN i} I A 734,164 134,135 18.3
& EN £8] X H 6,285,237 1,620,010 25.8
I A =t 8,535,275 3,880,150 45.5
X i) 7 12,282,085 3,955,991 32.2
(2) FIKEEERE (WS T, %)
X 5y TR N (BT B | A (BUT) £

I At 1Y I A 8,470,238 5,230,803 61.8
I 2 i) X a8 7,917,375 3,613,340 45.6
% N i} I A 3,920,178 486,193 12.4
& N 28] X H 7,385,317 2,428,184 32.9
I A 7t 12,390,416 5,716,996 46.1
X & 7 15,302,692 6,041,524 39.5
R (B 11, %)
X 5y Big i N GRIT) B | A (BT T) R

I i £5] I A 4,276,186 2,160,823 50.5
I 2k &5 X a8 4,209,153 1,838,484 43.7
& ZN £5] I A 629,685 532,384 84.5
% N £5] X i 629,685 287,784 45.7
I A 5 4,905,871 2,693,207 54.9
X a) g 4,838,838 2,126,268 43.9




